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Program Test;

var

i,j: integer; k:char;
begin

i:=1; j:=13; ch:='S";
ji=iti;

j:=itj;

ch=i+j;

=i

end;
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F=3.1464;
Write('F1=",F:3:1);
write('F2=',F:8:2);
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program Test;
var icinteger;
begin
fori:=6to 5 do
case i of
6:writeln('A');
5:writeln('B');
end;
end.
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for a=-3 to 3 do
if (2*a>a) writeln('Math');

SO LYY P SUREE

Cogud o0 51,5 4 i InfOrmation aels’ 5 j oS askad o —4
i:=1;
while(i<20) do
begin
i:=2*i+1; writeln(‘information’');
end;
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i:=1; c=0;
repeat
i:=2%i+1;
c:=c+1;
until(i<20);
write(c);

Tl wales ol (g)lado a4 ) dol p axlad 4o -

i=1;

while i<=20 do

if (i mod 2)=1 then i:=i+2;
writeln(i);
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$:=0;
while(a>0)
begin
s:=s+1;
a:=a div 10;
end;
write(s);
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i:=5;
while(i<=25)
begin

if(i mod 5)=0 then

break;

i=i+2;

end;
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var
num,n,p,r:integer;
begin
p:=1;
n:=0;
write('enter a Number : ');
readin(Num);
repeat
r:=num mod 2;
num:=num div 2;
n:=n+p*r;
p:=p*10;
until num<2;
n=n+num*p;
writeln(' Result =',n);
end.
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fori:=1to 100
begin
temp:=a[101-i];
a[101-i]:=a[i];
a[i]:=temp;

end;
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type
a=record
famiy:string[20];
b:array[-3..3]of integer;
age:integer;
end;
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var
sen:array[1..80]of char;
ch:char;
i:word;
begin
i:=1;
repeat
read(sen[i]);
inc(i);
until senli]=".";
dec(i);
n:=i;
fori:=1tondo
if (sen[i]>="'A") and (sen[i]<='Z')
sen[i]:=char(ord(senli])+ord('a')-ord('A’'));
fori:=1tondo

write(sen[i]);
end.
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F(36 ,24);
function F(a:integer;b:integer):integer;
begin
if a<b then
F(b,a)
else
if (a mod b)=0 then
F:=b
else

F:=F(b,a mod b);
end;
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function myFun(m,n:integer):integer;

begin
if n=1 then
myFun:=1
else
myFun:=m*myFun(m,n-1);
end;
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var
a:set of byte;
b:set of 0..10;
c,d,e:set of byte;
begin

a:=[0,1,2,3];
b:=[0,2,4,5];

c:=a+b;
d:=a*b;
e:=a-b;
end;
c=[0,1,2,3] d=[0,3] e=[0,2] .Y c=[0..5] d=[0,2] e=[1,3] .\
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type color_type=(red,blue,green,yellow);
var color:color_type;
i,j:integer;

begin

color:=blue;

i:=ord(red)+ord(green)+succ(color);

j:=ord(pred(blue))+ord(succ(blue));

writeln('i="i," j="i);

end.
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var
f:text; ch:char; str:string[20]; c:integer;
begin
assign(f,'a.txt');
reset(f);
c:=0;

while not eof(f) do begin
while not eoln(f) do
read(f,ch);

readin(f);
c:=c+1;

end;

write(c);

end.
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C*(C-1)
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var i,j:integer;
begin
fori:=1to 10 do
forj:=1to 10 do

if j>8 then
i:=i-8
else
i:=i+2;
end.
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readin(n);
j:=2;

while j<n-1 do
if n mod j=0 then
Halt
else
=i+
if j<n then
write(n);
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